100(

|peak height,

RUN=18, CH=3

Cn PTTTTTTTTTI S ]

________________________________________ Entries 5000
Mean 10.03
___________________________________________________ RMS 6.666
Underflow 0
______________________________________ ‘oo ........ | Overflow 0

i 1 1

30 40 50

U [mV]

peak time, RUN=18, CH=3 |, T T

b [EAtes o000 | i |l i

B Mean 20.43 |: : .
40— --| RMS 0.2665 |i.-oooneoaaa oL

E Underflow 184 |: : :
30— --| Overflow 1803 [rr-rmmrmmr e e e
20 T A P A ; :

10 : ST SR ST TR R e G R ;
18 183 19 19.5 20 20.5 21 21.5 22
time [ns]
peak time (cut: from 19.5 to 21.5 ns), CH=3 I_

r T T Entries 2977
14 4 I § e Mean 14.69
12— e f e RMS 4.337
10| S | A ' Underflow 0
805 : Ozverflow 0

E- TN T X/ ndf 50.75/ 40
R AR Prob 0.1187
] p0 0.06929 +0.01434
B = IO 4 TR p1 14.93+0.04

E : p2 1233+23.7

10 20 30 p3 3.386+0.038
U [mV]
5000 .__INOISE: RUN=18, CH=3

70000]
60000)
50000]
40000f
30000]
20000]
10000)

SIS O S SN S 1 R Entries 371875
SRREETETETETE L PEPPr PEPEPEPORE EESE EERT - FREPEPEPEPEPE Mean  0.08152
ET RN SN ST NN RO R DR SUUUURE SO RMS  0.8685
E oo ] Underflow 0
E | overflow 7
g i ; i ; i
-10 3 6 4 2 0 2 4 6 3 10
U [mv]

RUN=18, U, (CH=3)=5.0mV, U _

(CH=4) =12.0 mV |

Entries 1988
Mean -1.291
RMS 0.2016
Underflow 8

Overflow 10

i
0.5 1
Tews- Tens [ns]

RUN=18, CH=3 |

I :

T A AR Lol HR S R A S
10F— -+ feeenee e R FETRPEE e e PY SETPPR
el el SO e oeeeideeeaas b
o L e : — . ~
F i i i i i i i i i

20 20 60 30 100 120 140 160 180 200
time [ ns ]

1

|peak height, RUN=18, CH=4

Entries 5000
Mean 22,97
RMS 10.07
Underflow 0

Overflow 16

peak tim

30

OUC

Entries
Mean
RMS
Underflow

500

400

30K

e, RUN=18, CH=4

5000
21.93
0.3233

Overflow

201

TS eeeeeeeeeend eeeeeeeeeens e LS s 5

100

80

60}

40)

20)

time [ns]

Enfries 3982

Mean 26.59
RMS 7.703
Underflow 0
Overflow 14

élndf 113.7/78
rob 0.005232

50000
4000
3000
2000

1000

Entries 497750

Mean -0.09896
RMS 2.454
Underflow 1

25

8 10
U [mV]

| RUN=18, U, (CH=1) =150.0 mV, U, (CH=4) =12.0 mV

U [mV]

700k Entries 3912
60 Mean 81.48 | ..
Underflow 11
S0 Overflow 5
40 .LIntegral 3896 |.
o]0 S ) [ P ...........
20 :
101
i i
80 81 82 83 84

.[EUN =18, CH=4

Teni- Tena 03]

H
100

i
120

i
140

i
180 200
time [ ns ]

H
160



